SECTIONS 15.3, 15.4, 15.5 NAME:

Math 1920 - Andres Fernandez September 25, 2017

SUMMARY OF THE SECTIONS

1.

10.

For small small changes Az, Ay we have:
fla+ Az, b) =~ f(a,b) + fo(a,b)Ax

fla,b+ Ay) = f(a,b) + fy(a,b)Ay

. Clairaut’s theorem states that mixed partials are equal as long as all functions we are dealing with are

continuous. Hence, we can take higher partial derivatives in any order we please.

The linearization of f in two and three variables:
L(z,y) = f(a,b) + fu(a, b)(z — a)fy(y — b)
L(z,y,2) = f(a,b,¢) + fu(a,b,c)(z —a) + fy(a,b,c)(y —b) + f.(a,b,c)(z — ¢)
If f, and f, exist and are continuous in a disk containing (a,b), then f is differetiable at (a,b).

Equation fo the tangent plane to z= f(x,y) at (a,b).

z = f(aab) + fm(aab)(x - (l)fy(y - b)

The gradient of a function f is fiven by Vf = <a%f, %f, %f>.

Chain rule for paths: 4 f(r(t)) = V fo) - r'(t)
The directional derivative with respect to u a unite vector is given by Dy f =V f-u
If the angle between u and Vf is 0, then Dy f = ||V f]|||ul| cos(6)

The equation of the tangent plane to the level surface F(z,y,z) = k at point P = (a,b, ¢) is

VFp-{(x—a,y—bz—c)



PROBLEMS

1.

Suppose that we have a cylinder of radius » = 90cm and height A = 6cm. Estimate the change in
volume if we increase the radius by 2cm.

Find f such that:

(a) % = 622y , and (%f=2x3—3

(b) % = e® —ysin(zy) , and 8%]” = —zsin(xy) + 5y*
Find the tangent plane to the following graphs at the given point:

(a) f(z,y) =In(42® —y?) at (1,1)
(b) f(z,y) =e¥ at (2,1)

At which points is the vector n = (2,7,2) normal to the tangent plane of z = zy3 + 8y~ 1?

Let H(z,y) = 4w%y4. Show that we have % R %% + %. If x is increased by 5% and y is decreased
by 6%, what is the percentage of change of H? Does H increase or decrease?

Determine whether the derivative of the function along the path is zero, positive or negative in each
of the points A, B, C (see blackboard).

Determine the derivative of the function along the path given:

(a) f(z,y,2) = ya? — ™ + In(2) r(t) = (£, In(t), V)
(b) f(z,y,2) = sin(zyz) r(t) = (e', cos(4t), —t)

Find the normal vector to the ellispoid % + % +2%2 =1 at (9,0,0. When is the tangent plane normal
to the vector (0, 1,2)?

Find a function such that Vf = <2xey —z,9% + 2%, —J:>



